Surds 2

Simplify each of these.

a 2V18 x 3v2 b 4V24 x 2V5
e 2V27 x 4V8 £ 2748 x 3V8
i 2732 x 4V2 i V1000 x V10

Simplify each of these.

a 4V2 x5V3 b 2V5 x 3V3
e 2V5x3V8 £ 3V3x2V3
i 22 x3V7 i 2¥2x3V18

- Y TRy RN Ry L Rese

W12 x 3V3
2045 x 33
V250 x V10

42 x 32
296 x 52
296 x 206

d 2V8 x 2V8
h 2V63 x 2V7
1 2V98 x 2V2

d 2V2 x 2V8
h S5V7 x2V3
1 45x3V6



Simplify each of these.

a 4V2 x5V3 b 2V5 x 3V3 c 42 x 32 d 2V2 x 2V8
e 2V5 x 3V8 £ V3 x2V3 g 2V6 x 5V2 h 5V7 x 2V3
i 2¥2x3V7 i 22x3V18 k 2V6 x 2V6 1 45x3V6
8C> 4,,[ZKZE = [2x2 = 2«
gAY 2{2x2[8 =z 4xfic =ars =14
84) 2dC «x SJyz = 10 iz = 10(3x3 = 20(3
g S <2f3s T 16/
g¢) 4q4fs x3fCc = 12430
Simplify each of these.
a 2V18 x 3v2 b 4V24 x V5 c 3W12x3V3 d 2V8 x V8
e 2V27 x 4V8 £ 2748 x 3V8 @ 2V45 x 3V3 h 2V63 x V7
i 2V32 x 4V2 i V1000 x 10 k V250 x V10 I 298 x 2V2
- W T 17 JRGR: RS < Py
T 233 =2 36 = kL = 54
1d) 2«2 = 4x8 = 32
7s) 2Ls <33 = 20x5 3R =(I7x3J3 = &fF
L) 2085 x207 = 2037 1207 S L4255 = 27 = B4
7 k) 3% 7 [io = fzsxin xfio = S/ r(n = SO
75) 2 [¢¢ x2f2 = 2 Je4gr2 <K 2/2 = I4ﬁ—x25:28nz:fé
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